



## Nonexistence of Nontrivial Weak Solutions for Anisotropic Elliptic Problems

Tingfu Feng<sup>a,b</sup>

<sup>a</sup>Department of Applied Mathematics, Northwestern Polytechnical University, Xi'an, Shaanxi, 710072, P. R. China

<sup>b</sup>Department of Mathematics, Kunming University, Kunming, Yunnan, 650214, P.R. China

**Abstract.** In this paper, we consider anisotropic elliptic problems on a bounded smooth domain, nonexistence of nontrivial weak solutions are obtained by two different simplified methods. We point out the results of nonexistence of nontrivial weak solutions not only depend on the size and shape of domain, but also the constants  $p_1$  and  $p_N$  in anisotropic elliptic problems.

### 1. Introduction and Main Results

We consider the following anisotropic elliptic problem

$$\begin{cases} -\sum_{i=1}^N \frac{\partial}{\partial x_i} \left( \left| \frac{\partial u}{\partial x_i} \right|^{p_i-2} \frac{\partial u}{\partial x_i} \right) = \lambda |u|^{p_1-2} u + |u|^{p_N-2} u, & x \in \Omega, \\ u = 0, & x \in \partial\Omega, \end{cases} \quad (1)$$

where  $\lambda > 0$ ,  $\Omega \subset \mathbb{R}^N$  ( $N \geq 2$ ) is a bounded smooth domain,  $1 < p_1 \leq p_2 \leq \dots \leq p_N$ ,  $\sum_{i=1}^N \frac{\partial}{\partial x_i} \left( \left| \frac{\partial u}{\partial x_i} \right|^{p_i-2} \frac{\partial u}{\partial x_i} \right)$  is the anisotropic Laplace operator, which appears in physics (Lions [11], Tang [13]), biology (Bendahmane-Langlais-Saad [5], Bendahmane-Karlsen [6]), fluid mechanics (Antontsev-Diaz-Shmarev [2], Bear [3]), and image processing (Weickert [15]). If  $p_i = p$ ,  $i = 1, \dots, N$ , then the anisotropic Laplace operator is the pseudo- $p$ -Laplace (Belloni-Kawohl [4]). If  $p_i = 2$ ,  $i = 1, \dots, N$ , then the anisotropic Laplace operator is the classical Laplace operator. We say that  $u \in W_0^{1,(p_i)}(\Omega)$  is a weak solution of the problem (1) if for any  $\phi \in W_0^{1,(p_i)}(\Omega)$ , there holds

$$\sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i-2} \frac{\partial u}{\partial x_i} \frac{\partial \phi}{\partial x_i} dx = \lambda \int_{\Omega} |u|^{p_1-2} u \phi dx + \int_{\Omega} |u|^{p_N-2} u \phi dx, \quad (2)$$

2010 *Mathematics Subject Classification.* Primary 35J25; Secondary 35J66

*Keywords.* anisotropic elliptic problems, nontrivial weak solutions, nonexistence

Received: 12 May 2018; Accepted: 13 August 2018

Communicated by Marko Nedeljkov

Research supported by the National Natural Science Foundation of China (Grant No. 11701453)

*Email address:* [ftfm1@mail.nwpu.edu.cn](mailto:ftfm1@mail.nwpu.edu.cn) (Tingfu Feng)

where  $W_0^{1,(p_i)}(\Omega)$  is an anisotropic Sobolev space and defined by

$$W_0^{1,(p_i)}(\Omega) = \left\{ u \in W_0^{1,1}(\Omega) : \frac{\partial u}{\partial x_i} \in L^{p_i}(\Omega), i = 1, \dots, N \right\}$$

with the corresponding norm

$$\|u\|_{W_0^{1,(p_i)}(\Omega)} = \sum_{i=1}^N \left( \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx \right)^{\frac{1}{p_i}}.$$

In recent years, there have been a large number of papers and an increasing interest in the results of existence for anisotropic elliptic problems, with no hope of being complete, let us mention Alves-El Hamidi [1], Di Castro-Montefusco [7], El Hamidi-Rakotoson [8], Figueiredo-Santos Júnior-Suárez [9], Fragalà-Gazzola-Kawohl [10] and Vétoiss [14]. However, to the best of our knowledge, very little is known about nonexistence of nontrivial weak solutions of the problem (1), we only refer to Di Castro-Montefusco [7] and Fragalà-Gazzola-Kawohl [10], so our present paper is a new contribution in this direction.

In this paper, we aim to establish nonexistence of nontrivial weak solutions for the problem (1) by two different simplified methods. Firstly we use anisotropic Poincaré inequality and combine an argument of contradiction to obtain nonexistence of nontrivial weak solutions for the problem (1). Secondly we also obtain nonexistence of nontrivial weak solutions for the problem (1) by anisotropic Pohožaev identity on a strictly star-shaped bounded smooth domain with respect to the origin. Hence we generalize the results of nonexistence of nontrivial weak solutions in [12], and provide some effective methods to study more general anisotropic elliptic problems. Furthermore, we point out the results of nonexistence of nontrivial weak solutions for the problem (1) not only depend on the size and shape of domain, but also the constants  $p_1$  and  $p_N$ .

Below we introduce anisotropic Poincaré inequality needed in this paper:

**Lemma 1.1.** (anisotropic Poincaré inequality, [10]) Let  $\{e_1, e_2, \dots, e_N\}$  be the canonical basis of  $\mathbb{R}^N$ . Then for any  $u \in W_0^{1,(p_i)}(\Omega)$  and every  $q \geq 1$ , we have

$$\left( \int_{\Omega} |u|^q dx \right)^{\frac{1}{q}} \leq \frac{aq}{2} \left( \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^q dx \right)^{\frac{1}{q}} \tag{3}$$

in the direction of  $e_i$ , where  $a > 0$  denotes the width of  $\Omega$  in the direction of  $e_i$ , namely  $a = \sup_{x,y \in \Omega} (x - y, e_i)$ .

Our main results of this paper are as follows:

**Theorem 1.2.** If there exists a constant  $\lambda^* = \frac{1}{\left(\frac{ap_1}{2}\right)^{p_1} \left(\frac{ap_N}{2}\right)^{p_N}} > 0$ , then the problem (1) has no nontrivial weak solutions for all  $\lambda \in (0, \lambda^*)$ .

**Theorem 1.3.** Let  $u \in W_0^{1,(p_i)}(\Omega)$  be weak solutions for the problem (1). Then there holds anisotropic Pohožaev identity

$$\begin{aligned} & \sum_{i=1}^N \int_{\partial\Omega} \frac{p_i - 1}{p_i} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} (x \cdot \nu) ds \\ &= \sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx + N \int_{\Omega} \left( \frac{\lambda}{p_1} |u|^{p_1} + \frac{1}{p_N} |u|^{p_N} \right) dx - \sum_{i=1}^N \int_{\Omega} \frac{N}{p_i} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx, \end{aligned} \tag{4}$$

where  $v = v(x) = (v_1(x), v_2(x), \dots, v_N(x))$  denotes the exterior unit normal at  $x \in \partial\Omega$ ,  $x \cdot v = \sum_{j=1}^N x_j v_j$ ,  $\sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx = \int_{\Omega} (\lambda |u|^{p_1} + |u|^{p_N}) dx$ . If  $\Omega$  is a strictly star-shaped bounded smooth domain with respect to the origin, then the problem (I) has no nontrivial weak solutions if

$$\lambda \left( \frac{p_N - N}{p_N} + \frac{N}{p_1} \right) |u|^{p_1} + |u|^{p_N} < 0, u \neq 0. \tag{5}$$

The following nonexistence result can be obtained from Theorem 1.3 directly.

**Corollary 1.4.** Assume  $\Omega$  is a strictly star-shaped bounded smooth domain with respect to the origin,  $f : \mathbb{R} \rightarrow \mathbb{R}$  is continuous and  $F(u) = \int_0^u f(t)dt$  satisfies  $F(0) = 0$ . Then there is no nontrivial weak solutions for anisotropic elliptic problem

$$\begin{cases} -\sum_{i=1}^N \frac{\partial}{\partial x_i} \left( \left| \frac{\partial u}{\partial x_i} \right|^{p_i-2} \frac{\partial u}{\partial x_i} \right) = f(u), & x \in \Omega, \\ u = 0, & x \in \partial\Omega, \end{cases} \tag{6}$$

if

$$\left( \frac{p_N - N}{p_N} \right) u f(u) + N F(u) < 0, u \neq 0.$$

**Remark 1.5.** In the special case,  $p_i = 2 (i = 1, \dots, N)$  in Corollary 1.4, which is just the result of nonexistence of nontrivial weak solutions for semilinear elliptic problem  $-\Delta u = f(u)$  obtained by Pohožaev [12].

**2. Proof of Theorem 1.2**

**Proof of Theorem 1.2.** Taking  $\phi = u \in W_0^{1,(p_i)}(\Omega)$  in (2), we get

$$\sum_{i=2}^{N-1} \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx + \int_{\Omega} \left| \frac{\partial u}{\partial x_1} \right|^{p_1} dx + \int_{\Omega} \left| \frac{\partial u}{\partial x_N} \right|^{p_N} dx = \lambda \int_{\Omega} |u|^{p_1} dx + \int_{\Omega} |u|^{p_N} dx. \tag{7}$$

Applying anisotropic Poincaré inequality (3) with  $q = p_1$  and  $p_N$  respectively, we obtain

$$\int_{\Omega} |u|^{p_1} dx \leq \left( \frac{ap_1}{2} \right)^{p_1} \int_{\Omega} \left| \frac{\partial u}{\partial x_1} \right|^{p_1} dx \tag{8}$$

and

$$\int_{\Omega} |u|^{p_N} dx \leq \left( \frac{ap_N}{2} \right)^{p_N} \int_{\Omega} \left| \frac{\partial u}{\partial x_N} \right|^{p_N} dx. \tag{9}$$

Substituting (8) and (9) into (7) yields that

$$\sum_{i=2}^{N-1} \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx \leq \left( \lambda \left( \frac{ap_1}{2} \right)^{p_1} - 1 \right) \int_{\Omega} \left| \frac{\partial u}{\partial x_1} \right|^{p_1} dx + \left( \left( \frac{ap_N}{2} \right)^{p_N} - 1 \right) \int_{\Omega} \left| \frac{\partial u}{\partial x_N} \right|^{p_N} dx. \tag{10}$$

Noting that if

$$\begin{cases} \lambda \left( \frac{ap_1}{2} \right)^{p_1} - 1 < 0, \\ \left( \frac{ap_N}{2} \right)^{p_N} - 1 < 0, \end{cases}$$

namely if  $\lambda \left(\frac{ap_1}{2}\right)^{p_1} \left(\frac{ap_N}{2}\right)^{p_N} < 1$ , then the right hand side of (10) becomes

$$\left(\lambda \left(\frac{ap_1}{2}\right)^{p_1} - 1\right) \int_{\Omega} \left|\frac{\partial u}{\partial x_1}\right|^{p_1} dx + \left(\left(\frac{ap_N}{2}\right)^{p_N} - 1\right) \int_{\Omega} \left|\frac{\partial u}{\partial x_N}\right|^{p_N} dx < 0,$$

which contradicts with  $\sum_{i=2}^{N-1} \int_{\Omega} \left|\frac{\partial u}{\partial x_i}\right|^{p_i} dx > 0$  of (10). Hence there exists a constant

$$\lambda^* = \frac{1}{\left(\frac{ap_1}{2}\right)^{p_1} \left(\frac{ap_N}{2}\right)^{p_N}} > 0$$

such that the problem (1) has no nontrivial weak solutions for all  $\lambda \in (0, \lambda^*)$ .

### 3. Proof of Theorem 1.3

**Proof of Theorem 1.3.** Firstly multiplying the equation in the problem (1) by  $u$  and integrating it over  $\Omega$ , there holds

$$\sum_{i=1}^N \int_{\Omega} \left|\frac{\partial u}{\partial x_i}\right|^{p_i} dx = \int_{\Omega} (\lambda |u|^{p_1} + |u|^{p_N}) dx. \tag{11}$$

Next multiplying the equation in the problem (1) by  $\sum_{j=1}^N x_j \frac{\partial u}{\partial x_j}$  and integrating it over  $\Omega$ , there holds

$$- \sum_{i,j=1}^N \int_{\Omega} x_j \frac{\partial u}{\partial x_j} \frac{\partial}{\partial x_i} \left( \left|\frac{\partial u}{\partial x_i}\right|^{p_i-2} \frac{\partial u}{\partial x_i} \right) dx = \sum_{j=1}^N \int_{\Omega} x_j \frac{\partial u}{\partial x_j} (\lambda |u|^{p_1-2} u + |u|^{p_N-2} u) dx. \tag{12}$$

In virtue of  $u = 0$  for  $x \in \partial\Omega$  and an application of the divergence theorem yields that

$$\begin{aligned} 0 &= \int_{\partial\Omega} \left( \frac{\lambda}{p_1} |u|^{p_1} + \frac{1}{p_N} |u|^{p_N} \right) (x \cdot \nu) ds \\ &= \sum_{j=1}^N \int_{\partial\Omega} \left( \frac{\lambda}{p_1} |u|^{p_1} + \frac{1}{p_N} |u|^{p_N} \right) x_j \nu_j ds \\ &= \sum_{j=1}^N \int_{\Omega} \frac{\partial}{\partial x_j} \left[ x_j \left( \frac{\lambda}{p_1} |u|^{p_1} + \frac{1}{p_N} |u|^{p_N} \right) \right] dx \\ &= N \int_{\Omega} \left( \frac{\lambda}{p_1} |u|^{p_1} + \frac{1}{p_N} |u|^{p_N} \right) dx + \sum_{j=1}^N \int_{\Omega} x_j \frac{\partial u}{\partial x_j} (\lambda |u|^{p_1-2} u + |u|^{p_N-2} u) dx, \end{aligned}$$

which implies

$$\sum_{j=1}^N \int_{\Omega} x_j \frac{\partial u}{\partial x_j} (\lambda |u|^{p_1-2} u + |u|^{p_N-2} u) dx = -N \int_{\Omega} \left( \frac{\lambda}{p_1} |u|^{p_1} + \frac{1}{p_N} |u|^{p_N} \right) dx. \tag{13}$$

In virtue of

$$\begin{aligned} &\sum_{i,j=1}^N \int_{\Omega} x_j \frac{\partial u}{\partial x_j} \frac{\partial}{\partial x_i} \left( \left|\frac{\partial u}{\partial x_i}\right|^{p_i-2} \frac{\partial u}{\partial x_i} \right) dx \\ &= \sum_{i,j=1}^N \int_{\Omega} \frac{\partial}{\partial x_i} \left( \left|\frac{\partial u}{\partial x_i}\right|^{p_i-2} \frac{\partial u}{\partial x_i} x_j \frac{\partial u}{\partial x_j} \right) dx - \sum_{i,j=1}^N \int_{\Omega} \left|\frac{\partial u}{\partial x_i}\right|^{p_i-2} \frac{\partial u}{\partial x_i} \frac{\partial}{\partial x_i} \left( x_j \frac{\partial u}{\partial x_j} \right) dx, \end{aligned} \tag{14}$$

where

$$\begin{aligned}
 \sum_{i,j=1}^N \int_{\Omega} \frac{\partial}{\partial x_i} \left( \left| \frac{\partial u}{\partial x_i} \right|^{p_i-2} \frac{\partial u}{\partial x_i} x_j \frac{\partial u}{\partial x_j} \right) dx &= \sum_{i,j=1}^N \int_{\partial\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i-2} \frac{\partial u}{\partial x_i} x_j \frac{\partial u}{\partial x_j} v_i ds \\
 &= \sum_{i,j=1}^N \int_{\partial\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i-2} \frac{\partial u}{\partial x_i} x_j \frac{\partial u}{\partial x_i} v_j ds \\
 &= \sum_{i=1}^N \int_{\partial\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} (x \cdot v) ds
 \end{aligned} \tag{15}$$

and

$$\begin{aligned}
 &\sum_{i,j=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i-2} \frac{\partial u}{\partial x_i} \frac{\partial}{\partial x_i} \left( x_j \frac{\partial u}{\partial x_j} \right) dx \\
 &= \sum_{i,j=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i-2} \frac{\partial u}{\partial x_i} \left( \frac{\partial x_j}{\partial x_i} \frac{\partial u}{\partial x_j} + x_j \frac{\partial^2 u}{\partial x_i \partial x_j} \right) dx \\
 &= \sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx + \sum_{i,j=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i-2} \frac{\partial u}{\partial x_i} x_j \frac{\partial^2 u}{\partial x_i \partial x_j} dx \\
 &= \sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx + \sum_{i,j=1}^N \int_{\Omega} \frac{1}{p_i} x_j \frac{\partial}{\partial x_j} \left( \left| \frac{\partial u}{\partial x_i} \right|^{p_i} \right) dx \\
 &= \sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx + \sum_{i,j=1}^N \int_{\Omega} \frac{1}{p_i} \left[ \frac{\partial}{\partial x_j} \left( x_j \left| \frac{\partial u}{\partial x_i} \right|^{p_i} \right) - \frac{\partial x_j}{\partial x_j} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} \right] dx \\
 &= \sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx + \sum_{i,j=1}^N \int_{\Omega} \frac{1}{p_i} \frac{\partial}{\partial x_j} \left( x_j \left| \frac{\partial u}{\partial x_i} \right|^{p_i} \right) dx - \sum_{i=1}^N \int_{\Omega} \frac{N}{p_i} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx \\
 &= \sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx + \sum_{i,j=1}^N \int_{\partial\Omega} \frac{1}{p_i} x_j \left| \frac{\partial u}{\partial x_i} \right|^{p_i} v_j ds - \sum_{i=1}^N \int_{\Omega} \frac{N}{p_i} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx \\
 &= \sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx + \sum_{i=1}^N \int_{\partial\Omega} \frac{1}{p_i} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} (x \cdot v) ds - \sum_{i=1}^N \int_{\Omega} \frac{N}{p_i} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx,
 \end{aligned} \tag{16}$$

where we used  $\frac{\partial u}{\partial x_i} v_j = \frac{\partial u}{\partial x_j} v_i$  on  $\partial\Omega$ . Substituting (15) and (16) into (14) yields that

$$\begin{aligned}
 &\sum_{i,j=1}^N \int_{\Omega} x_j \frac{\partial u}{\partial x_j} \frac{\partial}{\partial x_i} \left( \left| \frac{\partial u}{\partial x_i} \right|^{p_i-2} \frac{\partial u}{\partial x_i} \right) dx \\
 &= \sum_{i=1}^N \int_{\partial\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} (x \cdot v) ds - \sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx \\
 &\quad - \sum_{i=1}^N \int_{\partial\Omega} \frac{1}{p_i} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} (x \cdot v) ds + \sum_{i=1}^N \int_{\Omega} \frac{N}{p_i} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx \\
 &= \sum_{i=1}^N \int_{\partial\Omega} \frac{p_i - 1}{p_i} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} (x \cdot v) ds - \sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx + \sum_{i=1}^N \int_{\Omega} \frac{N}{p_i} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx.
 \end{aligned} \tag{17}$$

Finally substituting (13) and (17) into (12) and combining (11) yields that anisotropic Pohožaev identity (4). Since  $\Omega \subset \mathbb{R}^N$  is strictly star-shaped with respect to the origin, it shows  $x \cdot \nu \geq 0$  for  $x \in \partial\Omega$ . If  $u \neq 0$ , then from (4),

$$\begin{aligned}
 0 &\leq \sum_{i=1}^N \int_{\partial\Omega} \frac{p_i - 1}{p_i} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} (x \cdot \nu) \, ds \\
 &= \sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx + N \int_{\Omega} \left( \frac{\lambda}{p_1} |u|^{p_1} + \frac{1}{p_N} |u|^{p_N} \right) dx - \sum_{i=1}^N \int_{\Omega} \frac{N}{p_i} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx \\
 &\leq \sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx + N \int_{\Omega} \left( \frac{\lambda}{p_1} |u|^{p_1} + \frac{1}{p_N} |u|^{p_N} \right) dx - \frac{N}{p_N} \sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx \\
 &= \frac{p_N - N}{p_N} \sum_{i=1}^N \int_{\Omega} \left| \frac{\partial u}{\partial x_i} \right|^{p_i} dx + N \int_{\Omega} \left( \frac{\lambda}{p_1} |u|^{p_1} + \frac{1}{p_N} |u|^{p_N} \right) dx \\
 &= \frac{p_N - N}{p_N} \int_{\Omega} (\lambda |u|^{p_1} + |u|^{p_N}) dx + N \int_{\Omega} \left( \frac{\lambda}{p_1} |u|^{p_1} + \frac{1}{p_N} |u|^{p_N} \right) dx \\
 &= \int_{\Omega} \left( \lambda \left( \frac{p_N - N}{p_N} + \frac{N}{p_1} \right) |u|^{p_1} + |u|^{p_N} \right) dx
 \end{aligned}$$

which contradicts with (5), then the problem (1) has no nontrivial weak solutions under the condition (5).

## References

- [1] C. O. Alves, A. El Hamidi, Existence of solution for a anisotropic equation with critical exponent, *Differential and Integral Equations*, 21 (2008) 25–40.
- [2] S. N. Antontsev, J. I. Diaz, S. Shmarev, *Energy Methods for Free Boundary Problems. Applications to Nonlinear PDEs and Fluid Mechanics*, Progr. Nonlinear Differential Equations Appl., vol. 48, Birkhäuser Boston, Inc., Boston, MA, 2002.
- [3] J. Bear, *Dynamics of Fluids in Porous Media*, American Elsevier, New York, 1972.
- [4] M. Belloni, B. Kawohl, The pseudo- $p$ -Laplace eigenvalue problem and viscosity solutions as  $p \rightarrow \infty$ , *ESAIM Control Optim. Calc. Var.* 10 (2004) 28–52.
- [5] M. Bendahmane, M. Langlais, M. Saad, On some anisotropic reaction-diffusion systems with  $L^1$  data modeling the propagation of an epidemic disease, *Nonlinear Anal.* 54 (2003) 617–636.
- [6] M. Bendahmane, K. H. Karlsen, Renormalized solutions of an anisotropic reaction-diffusion-advection system with data, *Commun. Pure Appl. Anal.* 5 (2006) 733–762.
- [7] A. Di Castro, E. Montefusco, Nonlinear eigenvalues for anisotropic quasilinear degenerate elliptic equations, *Nonlinear Anal.* 70 (2009) 4093–4105.
- [8] A. El Hamidi, J. M. Rakotoson, Extremal functions for the anisotropic Sobolev inequalities, *Ann. Inst. H. Poincaré Anal. Non Linéaire* 24 (2007) 741–756.
- [9] G. Figueiredo, J. R. Santos Júnior, A. Suárez, Multiplicity results for an anisotropic equation with subcritical or critical growth, *Adv. Nonlinear Stud.* 15 (2015) 377–394.
- [10] I. Fragalà, F. Gazzola, B. Kawohl, Existence and nonexistence results for anisotropic quasilinear elliptic equations, *Ann. Inst. H. Poincaré Anal. Non Linéaire* 21 (2004) 715–734.
- [11] J. L. Lions, *Quelques méthodes de résolution des problèmes aux limites non linéaires*, Dunod, Paris, 1969.
- [12] S. I. Pohožaev, On the eigenfunctions of the equation  $\Delta u + \lambda f(u) = 0$ , *Dokl. Akad. Nauk SSSR* 165 (1965) 36–39.
- [13] Q. Tang, Regularity of minimizer of non-isotropic integrals of the calculus of variations, *Ann. Mat. Pura App.* 164 (1993) 77–87.
- [14] J. Vétoiss, Existence and regularity for critical anisotropic equations with critical directions, *Adv. Differential Equ.* 16 (2011) 61–83.
- [15] J. Weickert, *Anisotropic diffusion in image processing*, B. G. Teubner, Stuttgart, 1998.